MENTAL ABILITY TEST / wengdlpen Caiey

Direction : (Question number 1 to 5)

In each question, the numbers are arranged in a
sequence based on certain principle, Select the

answer from the given four alternatives under

each sequence.

1. 2,6,15,31,56, __ ? .

(1) 87 (2 67

() 93 4) 92

2. 5040, 840, 168, 42,14, _ 2 .
1 2 2 1
@3 7 4) 4

3. 14,24,41,65,9, 2 .
(1) 134 (20 124

(3) 144 (4) 154

4. 2,3,4,4,6,12,16,12,36, _2

(1) 64 () 256
(3) 48 4) 28

5. 51,11,6,17,36,23, _2 .
1) 216 ) 108
(B) 54 @) 59

aufipsmp : (aflerm eTevor 1 (PH0 5 eusmir)
Spserayd eolarssafled aamHiT B
(GJu] [Tk [ sl Slusl 6 Litg. suflem giu-
M&slu’_esrarer. QaThSsUUL(N6TsT HT6TE,
orhn el saflsmig sfiurar ol amud
Gaih0s[H&snLb.

1. 2,6,1531,56, 2 .
(1) 87 2) 67

(3) 93 4 92

2. 5040, 840, 168, 42, 14, _ 2 .

P 2 2 1
@ 7 4) 4

3. 14,24,41,65,9, 7 .
(1) 134 2) 124

(3) 144 (4) 154

4. 2,3,4,4,6,12,16,12,36, _2 ,24

(1) 64 2) 256
(3) 48 4) 28

5. 51,11,6,17,36,23, _2 .
1) 216 (2) 108
() 54 4) 59



Direction : (Question number 6 to 10)

Identify the wrong number/letters in the series.

10.

11.

12,

25, 62, 122, 214, 341
1 122 @ 62
(3) 214 (4) 341

1,3, 7, 15, 31, 65, 127
1 7 @ 31
(3) 15 4) 65

-1,2,2,5,7,10,14, 17, 23, 26
1 17 @ 7
@) 23 @ 10

AD, EG, IJ, MM, QP, UP
(1) EG () UP
(3) QP @) MM

Z8, W5, T2, Q8, N5, K3
1) K3 @ T2
(@) Q8 4) z8

‘Sea’ is related with “Waves’. Then
‘Candle’ is related to :

(1) rays (2) wax
(3) stand (4) melt

Which set of number is like the given set ?
(80, 60, 45)

1) (16,12, 9) @ (16,12, 5)
(@) (20,15,11)  (4) (160, 120, 80)

aufisom : (eflerm sresor 6 (PGS0 10 eusmiy)
Ganmssiu’ersr suflnauflsd saummer stesor/

TS FISHEHEMENTE GeurLriuaLD.

6. 25,62, 122, 214, 341
1) 122 2) 62
(3) 214 4) 341

7. 1,3.7, 15, 31, 65, 127

1 7 2) 31
(3) 15 4) 65

8. -1,2,25710,14,17, 23, 2%
1 17 @ 7
3) 23 @ 10

9. AD, EG, I], MM, QP, UP
(1) EG (2) UP
3) QP 4) MM

10. Z8, W5, T2, Q8, N5, K3
(1) K3 2) T2
3) Q8 @) z8

11. ‘Sea’ eTetTugy) ‘Waves' 2 L 6T GigmLismLiug)
sreofley, ‘Candle’ eTeTUgGl TSI T

Cam_riysmLi g)?
(1) rays (2) wax
(3) stand (4) melt
12. Q&r{&soul(bsrer (3 6w 6w 1Ly L_6ET
GurmhEgID @enevr 618 7
(80, 60, 45)
(1) (16,12, 9) ) (16, 12, 5)

(3) (20, 15, 11) (4) (160, 120, 80)



Direction : (Question number 13 and 14)

First two terms are connected by some

relationship. The same relationship is applicable
for the next terms. Identify the suitable pair.

13.

14.

15.

16.

17.

Square : Cube : :

(1) Rectangle : Cuboid

(2) Triangle : Square

(3) Quadrilateral : Cuboid
(4) Cuboid : Rectangle

82:9::

(1) 5:26 (2) 6:37

(3) 35:6 (4) 26:5

If ‘tee see pee” means ‘prepare fruit juice’,

‘see kee tee’ means ‘Juice is nice’ and
‘lee ree mee’ means ‘it is tall’, which word

means ‘nice’ ?

(1) ree (2) mee
(3) kee (4) pee

In a certain code HONEY is written as
HPPHC then FORGE is written as :

(1) EPTJ (2) FPTJI
(3) FQTJI (4) FPSJI

If A=2, T=40 and ACT =48 then TAKE
is :

(1) o8 (2) 58
(3) 74 4) 76

sulfiwenm : (2Slerm ereior 13 opmid 14)

&0y QarHissuul Heraramausafl oo @\
e miysst @ umsuld  GsTLiy
U@z Hstarer. 96 Gam_mis gmubs
2055 Q6 2 pismeT CoME0SHSSa L.

13. Square : Cube : :
(1) Rectangle : Cuboid
(2) Triangle : Square
(3) Quadrilateral : Cuboid
(4) Cuboid : Rectangle

14. 82:9::
(1) 5:26 (2) 6:37
(3) 35:6 4 26:5

15. ‘tee see pee’ eTe0TU&| ‘prepare fruit juice’,
‘see kee tee’ 6T6iTLIG) ‘Juice is nice” LoMHmLD
‘lee ree mee’ sTaoTUG ‘it is tall’ eTeoTLl
GumgssTu@BILD sTeuflsd, 6THESG aUMTSema “nice”
sreurs GUmmeTLIEGID ?
(1) ree (2) mee
(3) kee (4) pee

16. HONEY ererug) HPPHC  rer
@Ml&sluc s, FORGE sTeiTLg) eTeusumm)
G@MlssLumID ?

(1) FPT]] (2) FPTI
(3) FQTN (4) FPSJI

17. A=2, T=40 uimib ACT=48 safle,
TAKE eTstTLIg) *
1) 68 2) 58
3) 74 @) 76



Direction : (Question number 18 to 21)

The diagram and the numbers/letters follow
certain principle. Select the missing number/
letter indicated.

2 3 6 9 6 ?
5 13 22
4 4 5
(1) 8 2) 12
@) 11 4) 33

19. 4 5 6 7

10 7 8 Y

(1) 38 2 40
@) 41 4) 42
N P 5 B
[5]59[ 7| |3 ]48] 6] [2[2]4
ki Eed 4
(1) 22 (2) 26
3) 28 (4) 30

T E 2l &b

Y
1 P @ Q

@3) R @ T

auflpenp : (aflerm sTevor 18 (P 21 auemi)
Gar@sasiul(eTer ULLD WHIILD 6T 6vor &6/
WS SIS & GMIILL efldlpammsaflsTuly
Simwhgietergl. alEULL eSS SlmeTs
Cariay Ges.

2 3 6 9
5 13
4 4
(1) 8 2) 12
@) 11 @) 33

19. 4 5 6 7

10 7 8 7

(1) 38 (2) 40
(3) 41 4) 42

20. ? ? ?
[5]59] 7| [3]48] 6] [2 ]2 ] 4

£d i EX

1 22 (2) 26
(3) 28 4) 30

21.




Direction : (Question number 22 to 24)

First two terms are connected by some
relationship. The same relationship is applicable
for the next terms in which one is blank space.
Identify the blank space.

22, Tree: Plant:: Woman : ?
(1) boy (2) child
(3) girl (4) mother

23. Roof : floor::?: Dark

(1) Tube light (2) Bulb

(3) Bright (4) Black
24, 7:50::7:65

(1 9 (2) o4

(3) 8 4 11

25. Drama is related to Director in the same
way as ‘Magazine’ is related to :

(1) Story (2) Editor

(3) Reader (4)

Printer

aufipenm : (eflerm eTevor 22 (PSeL 24 ausmIT)

&6y GarhiéssiucLsmaugafld g @)rstorH
2 ML s6ir aa suem S uiled
Gaerumyu@sgsiuGerarar. 965 QrLrGu
2058 @6 2niUsERSGD GurEhEIb.
aGulL G sdnE eflurar 2 mlemer

&6 @O Gsirer [ IT 63T (& Lo D)
ellenLseaflsdimigl CaihelsH&saLD.
22. Tree: Plant : : Woman : ?
(1) boy 2) child
3) girl (4) mother
23. Roof: floor::?: Dark
(1)  Tube light (2) Bulb
(3) Bright (4) Black
24, 7:50::7:65
(1 9 2) 64
3) 8 @ 11
25. Drama eerug Director 2 L6

Cgm_rusmLiwg) steufled, “‘Magazine” 6T6oTLIS)

&1)5 5 6107 QD MI6T 6T & STIL_ 66T
CamyemLig ?

(1) Story (2) Editor

(3) Reader (4) Printer



26.

27.

28.

29,

The age of the father is twice the age of
the elder son. Twelve years hence, the age
of the father will be thrice that of the
younger son. If the difference between the
elder and younger son is 15, the age of the

father is :
1 21 2 42
(3) 63 4) 84

In an examination, a student got thrice as
many sums wrong as he got right. If he
attended 120 problems in all, the number
of problems incorrectly done is :

1) 90 2 30
(3) 40 4) 60

The number of neither composite nor prime
number in the set of Natural numbers is :
1 2 @ 3
@) 1 (4) 0

In a group of cows and hens, the number
of legs are 16 more than thrice the number
of heads. The possible number of cows
and hens are respectively :

1) 20,4 @
(@) 18,6 4)

4, 20
6,18

26.

27.

28.

29,

simsuilsn g TSl pss wa st
auwemgLGUTs) @lretor( WLRIEG I EL.
usiTefGreior B UL s En& U KNG,
2urgl auwug ojeuflsr @lememiinssuflsr
EUILED SUIGUITED eI LOL MBISMELD. 96Uy
W55 WSMSEGWD @emeTiL 0S5 6m)& ELW
o srem euwg eflGHursd 15 srefle,
genguilsir g :

(1 21 () 42

(3) 63 4) 84

Q@ Coraile) @@ WLTaeul SHamrs
eflemLwefl& & & 600 & (&) & 61 l6oT
sremmsmil&ens  eflurs  aflmLwsflss
s Gaafler  samaflsmauisr 3
LOLTEI 4G, S{DLOTEwTelET GLTSSSSl
120 smr&EGsEnSE ololuaflss
PUDHASSMT eTeuflsd, JILOTETONT HeUMITE

eflemL wefl& & & 6U0T & (&) & 61f l6tT
sTetOTEUR 1 H6m &

(1) 90 ) 30

(3) 40 4) 60

@we aemraafle) UG WHMID UST 676w
|61 26716 6Tetor Serflsir sTevaTeNINSHEME ©
1n 2 2 3

@) 1 4 0

us uwupnh Coerfsmerd Gl&merL
&(eleh Gorss srwsaflsr sreursmflsme
eLp6IT ) L& & 61 60 & 61f| 60T
sTanmmemflSensemwail 16 & (HSam@GLb.
Gaflsd 2 srer u& O Camyflseflsr
6T6uOT ST 15 6m & :

(1) 20,4 )
3) 18,6 @)

4, 20
6, 18



30.

31.

32.

Which of the following statement is 30.

correct ?

(1) Thenumber of real numbers between
1 and 2 is same as 1 and 3.

(2) The first positive real number is 0.
(3) The non-negative integer starts

with 1.

(4) The number of natural numbers is
finite.

If South becomes north-east and North 31.

becomes south-west then north-west
becomes :

(1) East (2) West
(3) North (4) South
One evening during sunset, a person is 32.

standing facing a pole. The shadow of the
pole fell exactly to his left. The person faces

the direction :

(1) South (2) East

(3) West (4) North

dlsireupeuaTEIMMIST  6TE  Heummenr

S MHOmESD ?

(1) 1-&@w 2-&@b @aroucL
@i @wietor & arflsir 67 6toT u0f| &5 60 &
1-6@W0 3-6@0 @eocoull
QuiiQw et & aifletT 67 6T 6u0f1 5 6 5
GursiTm .

(2) lewms OuiGCwsrsaflsr (P&
sreuor 0.

(B) ©opudn WY ereraar 1-601mHES)
QEM_rRigLD.

(4) [@wsb srevorasflstr sTetoTenflGena s
(LPlg. ST 6T6TOTTUf|&56m SHUTNGVIT60T S

Q3 HE eTeiTUG) aULEPS(S, LSS sTETUS)
CsarGume srefl su Guome sreTug) :

(1) &uys (2 Gups

(3) awL&® 4) Gz

¢ ifhustt P @ wrens Gausnemullsy
QAT @, SULGSlmer urTiug) Gume
BlardlmesSpmi. swusdlsar Hlipaurears)
sflurs gourg @Liussn aflwdHmns)
steoflsd ojeur LTSS (HSBEGLD Hleme :

(1) Gzne 2) Hyss

(3) Gupe (4) oLéE



33.

34.

35.

The number of two digit combinations
having 9 as atleast one of the digits from
the digit 0,6,9,5,4is:

1) 9 @ 12

(3) 6 4 8

In a row of students, a boy is 12th from the
left end and 18" from the right end. The
total number of students is a/an :

(1) prime number
(2) composite number
(3) even number

(4) can’t be predicted

Six different bells in a tower toll at the
intervals of 9 sec, 12 sec, 15 sec, 18 sec,
21 sec and 24 sec respectively. If all of
them toll at 6 am, the next time they toll

together is :
(1) 742 am (2) 6.42 am
(3) 8.00 am (4) 9.00 am

33.

34.

35.

9-y GHMDHESULED (H @BIVSHSLITSALD
0, 6,9 5 4 géu QU&ESLSMTS
Ceram® o Haurss &pw Flass

6T6tOT &R 1T I63T 6T6B0T 60T | 6D ©

1 9 2) 12

(3) 6 4 8
wrsmreuigst  auflmaulled  gmeur
EL&CamelladmEs  12-augrsay,
ausv&Gamgeudlss w8 18-6ugM &L

fodpri srefléd, gyeuaflmauilsh o sirar
Grés LomemreuTseflsir 6t svoremnfl&ema

LUK

(1)  u&m eTenor

(2) w et

(3) @M el sTevor

(4) smer @S

e Carursdlea 6 eflgumer wewflssr
9 exlsurmig e, 12 sifleurimig ssir, 15 flsurimip &eir,
18 eflermgser, 21 ellarmig&er wHMILD
24 el mig & 61T Eem L Gleuafluilsh
elslstmer. ST 6 Wenfl&HE e
QMETSGID  OIGST, aTHibd o|me
2emsarSaih 6T Crrédle sedléELn Crib
SITEO6V :

(1) 7.42 (2) 6.42

(3) 8.00 4) 9.00



36.

37.

38,

39.

Inthe series 5864985426798135 36.

4 2, the number of pairs of alternate
numbers have difference 3, is :

1 4 (2) 2
(3) 3 4 1

The arrangement of alphabetical order of 37.

the words :
(a) music (b) monk
(c) minimum (d) maximum

1) (. (). (b) @
2) (@ () (), (®)
@) (. () @, ®)
@) (d). @) (), (b)

Select the combination of number so that 38.

the letters arranged accordingly will form
a meaningful word :

RTFIU

12345

1) 31,542 2 1,3,54,2

3 3,51,42 4 3,2541

The letter ninth to the left of seventeenth 39,

letter from the right end of the English
alphabets is :

(1) B @ z
G) Y @ A

58649854267981354 2 eratmm eTeuur
Garifleo  OS5850E58 @G
@& s misaflsr S Swmein 3
@& @DUIWTS 2 6T6m @608 8 ki eaflsr
676001600  |h6m &

(1) 4 (2) 2

(3 3 4 1

&6y Qar@&siulplster auTisemssetler
2yl 1&g euflens :

(a) music (b)

() minimum  (d)
M @ © ), @
@ (@) © @ ®
() @ © @ O
@ @, @) © 0

monk

maximum

&Cyllarmésiu’(Herer
TydaseafdEis  Iissepster
EUNTT SHENSGEMIL 2_(THEUTSHEGLD euflsme

RTFIU

12345
(1) 31,5472 2 1,3,54,2
®) 3,51,4,2 @) 3,2,54,1

QSR TWEHSHISSTN s GsTgull-
OmEG 17-018 TWESHDG G UL&S0Ts
2 6item 9-6u8) STWSS) ©

(1) B 2 Z

() Y 4 A



